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T
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[ T offeh wreH ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o P AT BT G % FT FIT-0H F JRT.JT 8. T 97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o TR T T To JeT-UH T fordl
Candidates must write thgir Roll Number on the question paper.

o YA FI F IV G (@ IE-GIGT B T [ FT9T {7 T &l &, GOET F YT 59
T § g A TETHT TR (AT T
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instruction :
() & FT S 8
All questions are compulsory.
(i) @& TIT Sy FAT-gréaHr § ey

Write correct answer in your answer-book.
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(2) 5503/(Set : A)

1. 5005 &l HHY [UFEUEl & &Y § e Hio| 1

Express 5005 as a product of prime factors.

2. 3+2J5 UTF URAY & T 7 STURE| 1

3+ 2\/5 is a rational number or irrational number.

3. 510 31X 92 H HCF T F 1
Find HCF of 510 and 92.

4-%@@%%%%@%%% 1

. 17 . o Y ol . .
The rational number — is a terminating or non-terminating decimal expansion.

5. f&M g0 6x% - 7x-3 & IR B TR .0l Bl 1
Product of roots of the quadratic polynomial 6x2 —Tx—3 1S ooevveennnn. .
ﬁ-ﬁﬁww%wﬂm@;wwia,aag@ww%: :
Q
A)  4x?+x+1 g\\ (B) 4x?-x-1

&

(C) 4x%-x+1 r@ (D) 4x%2+x-1
O 1 1

If sum of roo@ the quadratic polynomial is _T and product is 2 then the

quadratic polynomialis :

(A) 4x? + x+1 (B) 4x? - x-1
(©) 4x? - x+1 (D) 4x% + x-1
7. Sanu 6 A= & WaE FHEl w O W 8 g7 T 1

3x+2y=>5 T 2x-3y =7

Find out whether the following pair of linear equations is consistent or
inconsistent :

3x+2y=5 and 2x-3y=7
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8. g FHEN 3x+4y =10 T x—-y=1 F &7 & : 1
(A) x=1ly=2 B) x=3, y=1
C) x=2,y=1 D) x=4,y=3
The solution of linear equations 3x+4y =10 andx—-y=1 is :
(A) x=1ly=2 B) x=3, y=1
C) x=2,y=1 D) x=4y=3
9. fEam THHETT 2x% + x-6=0 & WaH [oEvs § died Hifm 1
Factoris the quadratic equation 2x? + x -6 =0 into linear factors.
10. fEEm EHIBTT 6x° —x-2=0 & T ..ocvvee. 2l 1
The roots of the quadratic equation 6x2 —x-2=0 are wi........... .
11. 3 fEaa e 2x2 +hkx+2=0 % g0 TF &, q kH 79 © ¢ 1
A) *2 B) £5 ) =3 D) x4
If the roots of the quadratic equation 2x? +kx+2=0 are equal, then the value
of kis:
(A) *2 (B) $\ ) +3 (D) +4
12. p & B A9 B Wx+py+8 0 T 2x+2y+2=0 TNBN & T B Th
Al & 8 ? 1
For which @’ue of \p~does the pair of equations 4x+ py+8=0 and
2x+2y+2=0 has'a unique solution ?
13. A.P.3,1,-1,-3, . Hl W A 1
Write the commion difference of A. P. 3, 1, -1,-3, .............. .
14. A.P.7,13,19, ...... P 1781 T ... Bl 1
17th term of A. P. 7, 13, 19, ...... IS toevieiiiinens
15. yo| n Wi et & AT 8l 1
The sum of first n natural numbers is .............. .
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(4) 5503/(Set : A)

16. A.P.1,-1,-3,-5 ccocvrrnen. % I TR 98 feim 1
Write the next four terms of the A. P. 1, -1, -3, -5, ...............
17. G Byt awed 8d 81 (FwfasTg, 99eg)| 1
All ...l triangles are similar. (isosceles, equilateral)
18. AMNLH&TAQPRW%QH@%@%ﬁWﬁW%Eﬁ?FﬁWWﬁ%? 1
(A) S.S.S.
(B) A.A.A.
2.5 991/ 70°
(C) S.A.S.
(D) & § #i§ T
10 &t
AMNL and AQPR are similar trlangles In given figure which 31m11ar1ty criterion
is used ?
(A) S.S.S.
(B) A.A.A. 2.5em /70° N3 om
(C) S.A.S.
(D) None of these 10 cm
19.:ﬁ%r%fgﬁa%§ﬁmﬁﬂ§%\%ﬁﬁﬁﬁww&§ﬁ%? 1

(i) 3 &, 8 |, 6@‘
() 133, 12@ 5.8

Sides of trlanges are 'given below. Determine which of them is a right triangle ?
i) 3 cm,8 cm,6cm
(ii)) 13 cm, 12-em, 5 cm

20. 5 @l Bregr 9 UF 99 & g P O W@ PQ & O & oM drcll T @ d g Q
T 39 &R e 8 F 0Q = 12 &t 31 PQ & TR © : 1
(A) 12 & B) 13 & (C) 8.5d (D) 119 &

A tangent PQ at a point P of a circle of radius 5 cm meets a line through the
centre O at a point Q, so that OQ = 12 cm. Then the length PQ is :

(A) 12 cm (B) 13 cm (C) 8.5cm (D) 4119 cm
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21.

22.

23.

24.

25.

26.

(5) 5503/(Set : A)
I % frg PH OF= a fFEll 99 W PA, PBER@T WER 80° F &0 W foreedt &,

@ | POA SUX B : 1
(A) 50° (B) 60° (C) 70° (D) 80°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at an angle of 80°, then | POA is equal to :

(A) 50° (B) 60° (C) 70° (D) 80°
TH G B oo, TR TRE & |l 2 1
A circle can have .............. parallel tangents at the most.
A
dFid § DE|BCRI ECHE &I o A tem
In figure DE|BC. Find EC.
D E

3cm

B C
frgell (-5, 7) T (-1, 3) & d= & gl ... 2l 1
The distance between the Q‘\&mts (-5, 7)and (-1, 3)is cevuennnnen. .
ECRUIR] %@S\—@Bﬂ?(l—ﬂﬁﬁﬁaﬁwzﬁyﬂﬁﬁﬂﬁﬁ
BT &, % 1
A) 1:5 Q@K\(B) 571 (C) 3:2 D) 2:3

The ratio in which the y-axis divides the line-segment joining the points (5, —6)
and (-1, 4) is:

(A) 1:5 B) 5:1 (C) 3:2 (D) 2:3
39 fog & e, st % fagall (-1, 7) ok (4, -3) I PN ol Yamevs &l 2 @ 3 &
U & faaiod &< @, @ ’
A) (3, 1) B) (5,2) € (2,9 (D) (1, 3)

The co-ordinates of the point which divides the join of (-1, 7) and (4, —-3) in the
ratio2 : 3 is:

(A 6, 1) (B) (5,2 € (2,9 (D) (1, 3)
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(6) 5503/(Set : A)
27. qﬁsinA=% g, @ tan A & HH FQ HIT 1

If sin A= % , find the value of tan A.

—_ 2 °
28, A H gy 1
1+ tan” 45°
(A) tan 90° B) 1
(C) sin45° D) O
1-tan?45° |
— 5 . is equal to :
1+tan” 45
(A) tan 90° B 1
(C) sin45° D) O
29. sin 60° cos 30° +sin30° cos 60° & HM .......co0.. 0 2l 1
sin 60° cos 30° +sin30° cos 60° is equal'to............... .
30. x—a:raww'a'i%lr—g,a‘ri%lr—gaﬁé@—S)aﬁT (-2,9) ¥ TG &, © ¢ 1
\
A 7,0 &g\ ®) (0,-7
© 5.0 & (D) ¥ & PR Tl
The point on t]@&axis which is equidistant from (2, -5) and (-2, 9) is:
(A) (=7,0) (B) (0,-7)
(C) (-5, 0) (D) None of these
31. B 6 AW ad IR BErEvE & FT 30°qW g9 B FOUEUS H AABA | 1
A)  7n qEP (B) 9r THI?
(C) 3r /¥R (D) 6r a2
Area of the sector of a circle with radius 6 cm and angle of sector 30° is :
(A) 7mcm? (B) 9mcm?
(C) 3m cm? (D) on cm?
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(7) 5503/(Set : A)
32. % 931 # fee &1 g3, Frew TR 14 & B W G a5 e § R W 99 @

% B - ]
(&) 162 AW B 2 ¥e

3
© 22w D) @ & B T

The length of the minute hand of a clock is 14 cm. The area swept by the
minute hand in 5 minutes is :

(A) 162 cm? (B) 1%4 cm?
(@) QTOS cm? (D) None of these

33. 24 YW P FIAR AR 6 TN SMUR B A g H AIGH I B 1
Find the volume of the cone of height 24 cm and radius of base 6 cm.

34. ©F T P I TOH GG A H B G [ 1

Write the formula for ﬂndi@ out the curved surface area of the cylinder.

35. Sﬁmﬁ@%@%ﬁﬁWQWﬁwwwamawl v ST S|
>

# T ® 1
O

(A) 10 & @$&\ B) 8 &

(C) 9@ (D) 7 a9

A metallic sphere of radius 3 cm is melted and recast into the shape of a
cylinder of raditus 2 cm. The height of the cylinder is :

(A) 10 cm (B) 8cm
(C) 9cm (D) 7 cm
36. fHl geT P WAHA ............. IS T 3D SEK Bl B A q BiE @
Iq% X Bl B 1
The probability of an event is greater than or equal to .............. and less than
orequal to .............. .
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(8) 5503/(Set : A)
37. fFr=faiad & & HM-d g el g & e 787 & whdl o ¢ 1
(A) % B) 15% (C) 0.7 (D) -1.5
Which of the following can not be the probability of an event ?
(A) % B) 15% (C) 0.7 (D) -1.5
38. UH UM H Th IR GH S &1 Th QA G A B B TR 2 1
A die is thrown once. The probability of getting an odd number is .............. .
39. 1= GR°N & A1 © 1
- ST 0-2|2-4|4-6|6-8|8-10| 10-12 | 12-14
T 1 2 1 S 6 2
(A) 10.5 (B) 8.1 (C) 11.5 (D) 9.5
The mean of the following data is :
Class-interval | 0-2 | 2-4 | 4-6 |[.6-8 | 8-10 | 10-12 | 12-14
Frequency 1 2 1 5 6 2 3
(A) 10.5 (B) &Q\\ (C) 11.5 (D) 9.5
K&Q

40. mmﬁmlo%@ﬁﬁﬁmmﬁﬁaﬁwmﬁm%:
2 6 45 0 \@Q’l 3 %8
sﬁ@?ﬂ%‘fiﬁfﬂ@%aﬁaﬁﬁm

The wickets taken by a bowler in 10 cricket matches are as follows :

2 6 4 5 0 2+1 3 2 3
Find the mode of the data.
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